4. PBB{EFR®E

BRHR st PBBEAZE
= JALT )IL—T 99%
meE ANAS )L—T 72%
AL JALY IL—T 88%
AL ANAS JL—T 97%
=40 JALY )L—T 89%
=40 ANAS )L—T 87%
b Fu JALY IL—T 80%
kM RA—D5(V— 73%
12 JALY )L—T 100%
12 ANAS )L—T 99%
12 RAB—T54Y— 57%
12 2H1<T—75 96%
RI% JALY IL—T 81%
RI% ANAG JL—T 98%
K& YSURIT 86%
HER JALY )L—T 99%
HER ANAS )L—T 96%
HEXR YSURI7F 84%
PN JALY IL—T 98%
P ANAG JL—T 66%
PN YSURIT 90%
=) JALG IL—T 62%
=) ANAY JL—T 87%
= YSUEIT 85%
BERE JALY )L—T 98%
BRE ANAS )L—T 93%
BERE 2H1<T—75 73%
ER YSURI7 91%
EE JALY )L—T 100%
i ANAS JL—T 95%
IRER APNA<T—5 95%
= JALY )L—T 100%
== ANAY JL—T 89%
HAaiE JALY )L—T 100%
HAaiE ANAS )L—T 96%

[284E10A]
OFHEZEH
R Ze4tt PBB{# R
Sl JALT )IL—T 97%
2T Al AIRDO 89Y%
AEJI JALY )L—T 100%
HEJI| AIRDO 77%
#Il % JALG IL—T 96%
#Il % ANAY JL—T 92%
#Il % AIRDO 54%
Gl JALY )L—T 81%
s AIRDO 65%
TR JALY )L—T 100%
o ANAS )L—T 97%
TR AIRDO 89%
TR APNA<T—4 93%
B JALY IL—T 99%
EKEE ANAG JL—T 92%
EKEE AIRDO 90%
FE JALY IL—T 86%
A ANAS JL—T 76%
NN JALY IL—T 97%
NN ANAG JL—T 89%
&R JALY )L—T 99%
&R ANAS )L—T 95%
F JALY )L—T 100%
[Fib s ANAG JL—T 100%
£k JALT IL—T 97%
£k ANAY JL—T 90%
£k RE—D54¥— 31%
#HE ANAS )L—T 95%
#HE APNA<T—5 87%
i L JALY IL—T 96%
fif] LI ANAS JL—T 93%
=) JALY )L—T 97%
=) ANAS )L—T 94%
T=EES JALY IL—T 75%
T=EES ANAG JL—T 97%
IWAFE [ R4—I7514v— 13%
= JALY )L—T 98%
= ANAS )L—T 86%

O THELEE

BRHR mZES PBB A
FIH JALG IL—T 100%
FH ANAG JL—T 100%
FH AIRDO 90%
FIH APDA<R—Y 82%

2Rl JALY IL—T 75%

2Rl ANAG JL—T 32%
=7 JALY )L—T 59%
=55 ANAS )L—T 67%
FE JALY IL—T 91%
FE ANAG JL—T 49%
= JALY IL—T 98%
= ANAS JL—T 89%
= AIRDO 84Y%
s JALY )L—T 55%
s ANAS )L—T 40%
oA JALG IL—T 100%
oA ANAY JL—T 100%
[pA=E] Peach*Aviation 100%
[z DRI O E A 81%
R H IN=FI7 100%
oA EMMZEER 100%
£ ANAY JL—T 100%
E% 1) 7Y N =LI7FAVR 100%
&R JALY )L—T 100%
&8 ANAS )L—T 100%
FE AIRDO 78%
& SIYbRE—- TR 59%
&R ANA<T—5 93%
F JALY )L—T 100%
FFE ANAG JL—T 100%
£k JALG IL—T 100%
£k ANAY JL—T 100%
B3l Peach* Aviation 100%
BE P STy RE— TR 64%
#HE ANAS )L—T 100%
#E AIRDO 96%
#E APNAT—4 70%
=) JALY )L—T 100%
= AIRDO 90%
12 JALY )L—T 100%
12 ANAS )L—T 100%
12 APNA<T—5 97%




OfEMZEE

OEmzEH
BEHR fnZEstt |[PBBEAZE]
PRI JALG IL—T 100%
FH ANAY JL—T 100%
OfEEZEHE
BB RZESH _|PBBEME
FH JALY )L—T 100%
FHE ANAD JL—T 100%
Ode iz
BEHR finZEstt |[PBBEAZE]
PRI JALG IL—T 100%
FH AB—=T54¥— 100%
Oz
BRER st PBB{#EAFE
PRI JALG IL—T 100%
FH ANAY JL—T 100%
F£1 JALY )L—T 100%
F£1 ANAY JL—T 84Y%
O=ZEH
BB RZESH _|PBBEME
FH JALY )L—T 100%
FHE ANAD JL—T 100%

Ofllpgze*
BEHR finZEstt |[PBBEAZR]
PRI JALG IL—T 100%
FIH ANAY JL—T 100%
FH AIRDO 100%
OHEZEH
BRER ZEstt PBB{# AFE
PRI JALG IL—T 100%
FIH ANAY JL—T 100%
FH AIRDO 100%
F1 JALY )L—T 100%
(Eib s ANAD )L—T 100%
OBz
% st PBB{f =
FTE JALT L—T 100%
(Eib s JALY IL—T 98%
F£1 ANAY JL—T 100%
# IBX 98%
fE ] ANAY JL—T 100%
fE ] 7Y N Y=LITIAVR 100%
O/IMATEHE
BRER izt PBB{# AFE
PRI JALG IL—T 100%
FIH ANAY JL—T 100%
OLLEZEHE
BEHR finZEstt |[PBBEAZE]
PRI JALG IL—T 100%
FIH ANAY JL—T 100%
HTE JALY )L—T 100%
HTE AIRDO 100%

BRAR st PBB{# 3
PRI JALG IL—T 100%
FIH ANAY JL—T 99%
FH P i e e 64%
FH AHL4<—4H 84%
T JALY )L—T 98%
T ANAY JL—T 82%
T AHAT—1 52%
= JALY )L—T 33%
= ANAY JL—T 41%
ia ANAY JL—T 47%
5 7Y NY=LI7FAVA 82Y%
B H JALY )L—T 85%
B H ANAY JL—T 69%
B H Peach - Aviation 57%
RH SIYrRE—- Tyl 38%
FE ANAY J)L—T 74%
FE ARBA—I754¥— 66%
FE STy RA— DR 69%
F£1 JALY )L—T 52%
F£1 ANAY JL—T 83%
E3kic] ANAY JL—T 13%
3l Peach*Aviation 62%
B 7 STy RE— Ty 82Y%
= I JALG IL—T 30%
= ANAY JL—T 22%
i 1] JALY )L—T 88Y%
A ANAY JL—T 80%
AR Peach* Aviation 47%
i 5] AHAT—H 51%




OXRZEE

(OF: [ F ke

BRAR fnZestt PBB{#FHZE
PRI JALT )L—T 96%
FIH ANAY JL—T 97%
FH AHL4<—4Y 90%
B H ANAY JL—T 98%
B H Peach - Aviation 0%
R H SIYRRE—- Ty 58%
B H IN=S5IT 0%
maksi JALY )L—T 95%
FE ANAY J)L—T 53%
FE STy RA— DR 79%
FE AHALA<R—Y 53%
FE YSLRITF 93%
F£1 JALY )L—T 100%
F£1 ANAY JL—T 99%
E3kic] JALY )L—T 76%
3] ANAY JL—T 84Y%
L] Peach* Aviation 0%
3] STy RA— DR 84Y%
HE AhA4<T—45 73%
e YSUKRIF 56%
fE ] JALY )L—T 99%
12 ANAY JL—T 98%
15[ Peach*Aviation 0%
12 ABAT—45 63%
B JALY IL—T 99%
== ANAY JL—T 83%

FAiE JALY )L—T 96%

FAiE ANAY JL—T 98%

FAiE YSUREIF 73%

BEHR finZEstt |[PBBEAZE]
PRI JALG IL—T 100%
FH ANAY JL—T 100%
FH YSUEIF 100%
F£1 JALY )L—T 62%
#t IBX 0%
ORIBZH
BRAR fnZestt PBB{#FHZE
PRI JALG IL—T 100%
FH ANAY JL—T 100%
FH YSUREIF 100%
F£1 JALY )L—T 100%
F£1 ANAY JL—T 100%
OREARZTHE
BEHR finZEstt |[PBBEAZE]
PRI JALG IL—T 100%
FH ANAY JL—T 100%
FH YSUEIF 100%
F£1 JALY )L—T 98%
F£1 ANAY JL—T 100%
OFIFZEHE
BEHR finZEstt |[PBBEAZE]
PRI JALG IL—T 100%
FH ANAY JL—T 100%
FH YSREIF 100%
F£1 JALY )L—T 100%
F1 ANAY JL—T 100%
12 JALY )L—T 99%
fE ] ANAY JL—T 100%
OERBEZEX
BRER fnZestt PBB{#HZE
PRI JALG IL—T 100%
FH ANAY JL—T 100%
FH AhA4<T—45 98%
FH YSREIF 100%
&R ANAY JL—T 100%
E=F SIYRRBE— Ty 98%
F£1 JALY )L—T 100%
F1 ANAY JL—T 100%




4. PBBlEAR

IRHR fiZestt PBB{f A%
= JALG )L—T 99%
=] ANAY JL—T 58%
NIl JALY IL—T 89%
NIl ANAG JL—T 96%
=50 JALY IL—T 82%
=0 ANAG JL—T 78%
b ALt JALY IL—T 88%
e ARA—I054 ¥ — 99%
iR JALY IL—T 100%
e ANAG JL—T 99%
iR ARA—I054 ¥ — 47%
i AhA4<—4 93%
El& JALY IL—T 96%
Ei% ANAG JL—T 98%
El& YSURIT 85%
AER JALY IL—T 98%
AER ANAG JL—T 91%
HER YSURIT 85%
PN JALY IL—T 97%
PN ANAG JL—T 69%
PN YSLRIT 89%
= 1% JALY IL—T 66%
= 1% ANAG JL—T 74%
= 15 YSURIT 87%
BRE JALY IL—T 98%
BRE ANAG JL—T 81%
BRE AhA4<—45 74%
BRE YSURIT 92%
A ZR JALY IL—T 98%
A ZR ANAG JL—T 90%
A ZR ADA<I—4 98%
=a JALY IL—T 100%
=a ANAG JL—T 93%
HAiE JALY IL—T 100%
HAiE ANAY JL—T 96%

[285118])
OPHZEH
IR fiZestt PBB{f %
225 Al JALG JL—T 92%
2 Al AIRDO 94%
AB)I| JALY IL—T 96%
AB)I| AIRDO 79%
Il & JALY IL—T 89%
Il & ANAG JL—T 93%
Il & AIRDO 64%
w5 JALY IL—T 96%
eI AIRDO 72%
T JALY IL—T 100%
T ANAY JL—T 96%
T AIRDO 85%
T AHA<T—4 97%
EKIEE JALY IL—T 94%
ERIEE ANAG JL—T 88%
ERIEE AIRDO 75%
i JALY IL—T 99%
i ANAG JL—T 88%
NN JALY IL—T 88%
NN ANAG JL—T 85%
&R JALY IL—T 99%
&R ANAG JL—T 92%
#£t JALY IL—T 100%
#£t ANAG JL—T 100%
E3lii] JALY IL—T 98%
E3lii] ANAG JL—T 85%
E3lii] ARA—I054 ¥ — 40%
i ANAG JL—T 95%
i AhA4<—5 90%
i L1 JALY IL—T 89%
i L1 ANAG JL—T 84%
LS JALY IL—T 92%
LE ANAG JL—T 93%
W AFH JALY IL—T 75%
W aFER ANAG JL—T 95%
WAEE | RA9—J514Y7— 34%
= JALY IL—T 99%
= ANAY JL—T 82%

O FmEZ=E

IEHR fiZestt PBB{f %
FH JALG JL—T 100%
FH ANAG JL—T 100%
FH AIRDO 85%
J1H ABhA4<—D 88%

2 Al JALY IL—T 57%

2 Al ANAG JL—T 50%
= JALY IL—T 48%
= ANAG JL—T 38%
i JALY IL—T 95%
FAE ANAG JL—T 40%
= JALY IL—T 92%
= ANAG JL—T 72%
= AIRDO 91%
it JALY IL—T 51%
s ANAY JL—T 68%
k. H JALY IL—T 100%
. H ANAG JL—T 100%
R H Peach*Aviation 100%
R H SIyhRA—- Ty 80%
k. H IN=F-IT 82%
k. H EMMEEHXK 100%
&R JALY JL—7 100%
&R ANAG JL—T 100%
&R AIRDO 86%
th &1 STy RE—-TxRy 69%
&R ADA<R—4 76%
#£t JALY IL—T 100%
#£t ANAG JL—T 99%
E3kic] JALY IL—T 100%
E3kic] ANAG JL—T 100%
Eait] Peach-Aviation 100%
5[] Iy RE— D\ 77%
i ANAG JL—T 100%
i AIRDO 95%
i AhA4<—5 78%
LE JALY IL—T 100%
LS AIRDO 55%
&k JALY IL—T 100%
&k ANAG JL—T 100%
i AhA4<—5 77%




O gl Ze 7

OEMmZEXE
Big izt PBBEHEE
FH JALG IL—T 100%
FH ANAY JL—T 100%

OfEEZEXE

| R [ fmTEsu PBB{F AE

FH JALZ JL—T 100%
FH ANAY JL—T 100%

Odt i zEH
B R fnZE=tt | PBBHEAER]
FH JALG JL—T 100%
FH ARA—I054 ¥ — 100%

O Lz
PRER st PBBE A&
FH JALG IL—T 100%
FH ANAY JL—T 100%
#£t JALY IL—T 100%
#£t ANAY JL—T 93%

OEFZEHE

| R [ fmTEsu PBB{F AE

FH JALZ JL—T 100%
FH ANAY JL—T 100%

% fnZEsit PBB{#E A&
FIH JALG IL—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%

OKfEZE X
B AR fnzE &t PBB{# HE
FH JALG JL—T 100%
FH ANAG JL—T 100%
F1H AIRDO 100%
F51 JALY IL—T 100%
F51 ANAY JL—T 100%
OF T
FEHR fnZE &4t PBB{# |
T JALT )L—T 93%
# JALY IL—T 84%
#£t ANAY JL—T 100%
#3 IBX 97%
t&2hH ANAY JL—T 100%
Gi=AEa 7Y F)-LITFAVR 100%
O/ ZE
B R fnzE &t PBB{# HE
FH JALG JL—T 100%
FH ANAG JL—T 100%
OLEZEE
IEHR fnZE &4t PBB{# |
FH JALG JL—T 100%
FH ANAG JL—T 100%
T JALY )L—T 100%
T AIRDO 100%

OfEEZE &

Big fnZEsit PBB{#E A&
FIH JALG)IL—T 100%
FH ANAY JL—T 100%
JF1H ARA—54¥— 64%
JF1H AAARX—Y 80%

N JALY )L—T 96%

Tk ANAY )L—T 100%

N AHA<T—Y 76%
= JALY IL—T 24%
= ANAG JL—T 39%
ik ANAY J)L—T 43%
5 7Y M) -LI7FAVR 100%
X H JALY IL—T 93%
k. H ANAG JL—T 81%
R H Peach*Aviation 93%
A SR RE— TRy 54%
i ANAG JL—T 71%
Eaks] RI—054 ¥ — 68%
] CIYRRE—- Ty 48%
#£t JALY IL—T 66%
#£t ANAY JL—T 88%
£l ANAY JL—T 8%
E3Fii] Peach* Aviation 96%
£l STYRRE—TaRY 41%
= 5 JALY JL—T 47%
= 1% ANAG JL—T 17%
A ZR JALY IL—T 84%
A ZR ANAG JL—T 75%
AR Peach - Aviation 57%
AR5 ANA<T—4 38%




OFBFHZE;
Bz fnZEsit PBB{#E A&
FIH JALG)IL—T 93%
FH ANAG JL—T 97%
JF1H AAAR—Y 91%
Bk H ANAY JL—T 94%
[pd=2] Peach* Aviation 0%
A TSIy RE—Ta R 60%
. H IN=FI7T 0%
aaki JALY )L—T 96%
i ANAG JL—T 69%
h& STYRRB— DN 0%
Eaks] 2HA4AT—4 78%
Eaks] YSRIT 83%
#£t JALY IL—T 100%
#£t ANAG JL—T 100%
Ealii] JALY IL—T 73%
£ ANAY JL—T 71%
] Peach-Aviation 0%
Eslii] DTypRA—- DR 11%
HE AHA<X—Y 83%
HE YSURIT 75%
Gi=lEa JALY JL—T 99%
Gi=AEa ANAZ JL—T 79%
12 i Peach* Aviation 0%
gi=lEd AHA<T—Y 79%
=a JALY JL—T 100%
== ANAY JL—T 89%
naiE JALY JL—T 85%
naiE ANAZ JL—T 78%
FAiE VYSURIT 77%

iR | AiZEstt | PBBERE]
[ PIE [ JALZJL—J | 100%
I H ANAZ IL—T 100%
PFH YSIRIT 100%
FH JALT )V —T 67%
ik IBX 0%
ORIFZE#
iR | AiZEstt | PBBERE]
[ ®E | JALGJL—T [  100%
I H ANAD L—T 100%
HH YIVRIT 100%
FH JALT )V —T 100%
FH ANAD JL—T 100%
OREAZE
f | MZER3 | PBBRERE
[ ®E | JALGJL—T [  100%
I H ANAD L—T 100%
FIH JIUEIT 100%
FH JALT )V —T 98%
FH ANAD JL—T 100%
OEiFZE#
iR | A#iZEstt | PBBERE
[ P | JALZJL—J | 100%
I H ANAZ L—T 100%
FH YSIRIT 100%
FH JALT )V —T 99%
FH ANAD J)L—T 100%
& JALT )V —T 99%
= ANAD JL—T 100%
OEREZHE
iR | AiZEstt | PBBERE]
[ RE | JALGJL—J | 100%
I H ANAD J)L—T 100%
F1H Zh4=—% 98%
H YIVRIT 100%
hE ANAY JL—T 100%
hE STyhRE—-TxRo|  100%
FF JALY )L—T 100%
FF ANAY JL—T 100%




4. PBBlEAR

IRHR fiZestt PBB{f A%
= JALG )L—T 99%
=] ANAY JL—T 55%
NIl JALY IL—T 88%
NIl ANAG JL—T 94%
=50 JALY IL—T 79%
=0 ANAG JL—T 76%
b ALt JALY IL—T 87%
e ARA—I054 ¥ — 99%
iR JALY IL—T 100%
e ANAG JL—T 99%
iR ARA—I054 ¥ — 47%
i AhA4<—4 93%
El& JALY IL—T 88%
Ei% ANAG JL—T 95%
El& YSURIT 82%
AER JALY IL—T 99%
AER ANAG JL—T 90%
HER YSURIT 83%
PN JALY IL—T 97%
PN ANAG JL—T 68%
PN YSLRIT 90%
= 1% JALY IL—T 71%
= 1% ANAG JL—T 75%
= 15 YSURIT 87%
BRE JALY IL—T 99%
BRE ANAG JL—T 83%
BRE AhA4<—45 76%
BRE YSURIT 89%
A ZR JALY IL—T 98%
A ZR ANAG JL—T 91%
A ZR ADA<I—4 96%
=a JALY IL—T 100%
=a ANAG JL—T 97%
HAiE JALY IL—T 100%
HAiE ANAY JL—T 91%

(285128
OPHZEH
IR fiZestt PBB{f %
225 Al JALG JL—T 95%
2 Al AIRDO 84%
AB)I| JALY IL—T 87%
AB)I| AIRDO 73%
Il & JALY IL—T 92%
Il & ANAG JL—T 83%
Il & AIRDO 53%
w5 JALY IL—T 95%
eI AIRDO 64%
T JALY IL—T 100%
T ANAY JL—T 97%
T AIRDO 82%
T AHA<T—4 94%
EKIEE JALY IL—T 98%
ERIEE ANAG JL—T 88%
ERIEE AIRDO 81%
i JALY IL—T 97%
i ANAG JL—T 87%
NN JALY IL—T 89%
NN ANAG JL—T 86%
&R JALY IL—T 97%
&R ANAG JL—T 73%
#£t JALY IL—T 100%
#£t ANAG JL—T 100%
E3lii] JALY IL—T 99%
E3lii] ANAG JL—T 92%
E3lii] ARA—I054 ¥ — 40%
i ANAG JL—T 96%
i AhA4<—5 89%
i L1 JALY IL—T 90%
i L1 ANAG JL—T 77%
LS JALY IL—T 92%
LE ANAG JL—T 91%
W AFH JALY IL—T 78%
W aFER ANAG JL—T 95%
WAEE | RA9—J514Y7— 33%
= JALY IL—T 97%
= ANAY JL—T 76%

O FmEZ=E

IEHR fiZestt PBB{f %
FH JALG JL—T 100%
FH ANAG JL—T 100%
F1H AIRDO 86%
J1H ABhA4<—D 82%

2 Al JALY IL—T 81%

2 Al ANAG JL—T 55%
= JALY IL—T 51%
= ANAG JL—T 24%
i JALY IL—T 69%
FAE ANAG JL—T 38%
= JALY IL—T 91%
= ANAG JL—T 71%
= AIRDO 90%
it JALY IL—T 33%
s ANAY JL—T 52%
k. H JALY IL—T 100%
. H ANAG JL—T 100%
R H Peach*Aviation 100%
R H SIyhRA—- Ty 82%
k. H IN=F-IT 99%
k. H EMMEEHXK 100%
&R JALY JL—7 99%
&R ANAG JL—T 99%
&R AIRDO 87%
th&p STYRRA—- TR 67%
&R ADA<R—4 87%
#£t JALY IL—T 100%
#£t ANAG JL—T 100%
E3lii] JALY IL—T 99%
E3kic] ANAG JL—T 100%
Eait] Peach-Aviation 99%
5[] Iy RE— D\ 67%
i ANAG JL—T 100%
i AIRDO 88%
i AhA4<—5 72%
LE JALY IL—T 100%
LS AIRDO 66%
&k JALY IL—T 100%
&k ANAG JL—T 100%
i AhA4<—5 79%




Ofaf z= #

OEMmZEXE
Big izt PBBEHEE
FH JALG IL—T 100%
FH ANAY JL—T 100%

OfEEZEXE

| R [ fmTEsu PBB{F AE

FH JALZ JL—T 100%
FH ANAY JL—T 100%

Odt i zEH
B R fnZE=tt | PBBHEAER]
FH JALG JL—T 100%
FH ARA—I054 ¥ — 100%

O Lz
PRER st PBBE A&
FH JALG IL—T 100%
FH ANAY JL—T 100%
#£t JALY IL—T 98%
#£t ANAY JL—T 92%

OEFZEHE

| R [ fmTEsu PBB{F AE

FH JALZ JL—T 100%
FH ANAY JL—T 100%

OfIFg 2= &

% fnZEsit PBB{#E A&
FIH JALG IL—T 100%
FH ANAY JL—T 100%
FH AIRDO 100%

OKfEZE X
B AR fnzE &t PBB{# HE
FH JALG JL—T 100%
FH ANAG JL—T 100%
F1H AIRDO 100%
F51 JALY IL—T 100%
F51 ANAY JL—T 100%
OF T
FEHR fnZE &4t PBB{# |
T JALT )L—T 96%
# JALY IL—T 99%
#£t ANAY JL—T 100%
#3 IBX 97%
t&2hH ANAY JL—T 100%
Gi=AEa 7Y F)-LITFAVR 100%
O/ ZE
B R fnzE &t PBB{# HE
FH JALG JL—T 100%
FH ANAG JL—T 100%
OLEZEE
IEHR fnZE &4t PBB{# |
FH JALG JL—T 100%
FH ANAG JL—T 100%
T JALY )L—T 100%
T AIRDO 100%

Big fnZEsit PBB{#E A&
FIH JALG)IL—T 100%
FH ANAY JL—T 100%
JF1H ARA—54¥— 73%
JF1H AAARX—Y 97%
N JALY )L—T 88%
Tk ANAY )L—T 93%
N AHA<T—Y 66%
= JALY IL—T 43%
= ANAG JL—T 35%
ik ANAY J)L—T 79%
5 7Y M) -LI7FAVR 100%
X H JALY IL—T 31%
k. H ANAG JL—T 90%
R H Peach*Aviation 49%
A SR RE— TRy 37%
i ANAG JL—T 72%
Eaks] RI—054 ¥ — 87%
] CIYRRE—- Ty 48%
#£t JALY IL—T 66%
#£t ANAY JL—T 85%
£l ANAY JL—T 11%
E3Fii] Peach* Aviation 68%
BTG STYRRA—- TRy 16%
= 5 JALY JL—T 48%
= 1% ANAG JL—T 4%
A ZR JALY IL—T 89%
A ZR ANAG JL—T 83%
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